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w (wind assist) : JBJASE TRIERH iLEk, TKRIBEKE0Ek, =TKR: R @ X A5isk, GR: K&itk, =GR:KEHAiek
B £+ R 247 37 A7 YA DA hr 8fir
. A FMEGR) 10.64 (-1.0)|RE #(4) 10.80 (-1.0)|/hR  1HE(6) 10.84 (-1.0)[/\FE B2 A(6) 10.87 (-1.0)[fE4 K & 11.18 (-1.0)|FE{R  BEBR(4) 11.22 (-1.0)|#% BE 11.29 (-1.0)|E® R®AQ) 11.34 (-1.0)
AR T 7TH16H 100m . \
=P FUEK =P ElK Rs EIRK WILL =A1IpN
- 300m NE - E2A(6) 33.81|FakE  F(4) 3412/ R 1EE(6) 34.47|AA BXQ) 34.81|AA 18—57 36.52|fE4 A B 36.24|=# & 36.44
Zihk E+EEA Zihk 1PN Rs Rs Rs
. s00m —= %) 1:54.17K@  #HEQ1) 1:55.29|88 —&(@3) 1:58.04| 53 £ 1:59.52(2@  F&E(2) 2:00.07 B+ BE£(2) 2:00.87|t% HHA 2:01.70|F& &M 2:02.67
1PN IS SY N MIETEALSN NowStyle EREEK Zihk E kR MT.SUPOLA
JA17H LLomi B —E 14.70 (+1.4)|[1RE  E5R 14.73 (+1.4) |5+ #HE&E4) 15.80 (+1.4)|ANI #=K 15.96 (+1.4)|82 &EKR@) 16.51 (+1.4)
Y KK BERVHTTR)-Y bk WILL ELRITK
AXE —&R 54.35|2%  Z(1) 55.66|=# fEEER 57.08|aEE EX(Q) 58.11|FIm =B 1:04.38
TH16H 400mH
HAC HIIpN Rs IS N WILL
2168 | 3000msc A 2XREG) 9:08.32|% BT 9:21.50| A%  E2¥R 9:42.04[HR &k 9:47.32|£H ®E 9:59.69|HK BEA 10:05.00[# & 1&21(3) 10:06.22|&<MA EM) 10:29.18
=AIPN GR|TeamHally Rs TeamHally HYZRC TeamHally TN 1IN
Hih #L3R(3) 24:48911O EF(2) 29:56.82
TH17TH 5000mW
Zihk Zihk
TA17H Ltk FN - BeE 7.07 (+0.9)|EA BX() 7.07 (+0.5)|HE £ 6.99 (+1.4)|%F BE 6.88 (+0.2)|= R 6.78 (+0.6)|F5 =R 6.26 (-0.6)|Fc A &1=(3) 6.16 (+1.5)|#8& X (3) 6.10 (+0.8)
Rs HIIPN Rs WILL = 1LFER WILL AR Zihk
n1en | =pm FAR BB w13.68 (+2.2)|FI& HEH(3) 13.38 (+1.0)|a  EEAHEA(2) 13.10 (+0.7)|/RE =X @Q) 12.89 (+0.5)|80  ERAEAM) 12.81 (-0.D)[#AdH #®K(3) 12.65 (+1.2)|#EE %A Q) 12.50 (+1.9)
A HREBK AR S HELS s 1PN ES
, AT #HFE 12.75|/\F B2 A(6) 11.57|#L 528l 10.00
PR | R o) e ELk TOYAMAFOKUS
TH16H oo BTEF $AKEB 60.57|F8E TR 56.74| LA fEE 56.41|8% ME 53.86|MWR  IHE(5) 51.10|k8 EAHE(4) 48.97|EE 48.85|ME 1=(3) 45.38
A =YvayT v BERTITTAY-Y Y KK TBER2T7RY-Y ElLEE = LEERX AR =Yyay7 v =A1IpN
piEAnT | 79168 L00m FER —#EQ3) 10.86 (-0.9)|BEH  HIR(3) 10.98 (-0.9)[KxARR E=(3) 11.06 (-0.9)|&H ZEA(2) 11.14 (-0.9)|=#  f&+EB(2) 11.26 (-0.9)|5H# &K (2) 11.42 (-0.9)|®h#  #FBQ3) 11.54 (-0.9)
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TA17H 200m £& #AGR) 34.36[5F  HKE(2) 35.27|AH EAQ) 35.94|MHE EE(Q2) 36.25|BRE8  EE12(2) 36.37|ME BE(3) 37.07| KR WE(2) 37112 #ERQ) 37.12
EaELS AR S = LS EARE a5 ElLS ZlitES S Bl
. 5000m «21 33) 15:13.08|## ERB(2) 15:18.82[;m%  #:m(2) 15:33.00| A $#(2) 15:36.01|5H  Hi(3) 15:36.79|=MA 1BE(Q2) 15:41.94[)115 K<) 16:05.88|87TA £3K(2) 16:09.63
BELES BEEES ELES BREES ELES ElLES ElLES BEEES
saen | s00mm B KEE(3) 37.83|#E E&0) 38.44|1LE BZE@3) 42.54|BH0 15(3) 43.02|MR HBE(3) 43.61|7% BHE(2) 4411 % 1&H7(2) 4481
EAELS =TKR-=GR|Z 1Lt 3= LS EAL BLES NIE =i ELEE BEES
- %m ﬁ%;@\(z) 4.00 T%Jﬁ;‘x(z) 3.80 %% %(E) 3.60
SRILES = it 1= S ITES
TA17H - me —£@03) 6.79 (+1.0)[FRA =ZEK(3) 6.40 (+1.9)|5;R  KA(2) 6.24 (+1.0)|TEZE &#£2ZN(2) 6.20 (+0.5)[FA M3k (2) 6.01 (0.0)|F1R M4 (2) 5.92 (-0.8)|B&A& AM(2) 5.80 (0.0)| 8 HAEB(Q2) 5.77 (+1.3)
ELhEEAL RIS ERELS mEs WHE BPE BREE BREE
S A HER) 55.29| AR E(3) 41.82|8% Z=X@3) 38.24|&Mm H=(2) 35.54| 8 FH  1EIR(3) 33.86|&EL BARER(2) 19.80
BELES BEE EEIES BRES EaELS mES
tmrn | svp miE HEMG) 57.27|TH #R(3) 53.97|#&lE AR (2) 53.65|H& A@Q) 49.46|E 1k E+(2) 47.54|7H  fi(2) 4390[liF () 42.46|1L1F  F=3H(2) 38.92
EaELS PRI ERES HES EEEE ElLS ELES AR S
pnsr | 1160 Lo0m A —s(1) 11.43 (-1.0)[thA  SmE2(1) 11.53 (-1.0)|2# AlIXQ) 11.64 (-1.0)|[BE (1) 11.74 (-1.0)|&mHE #XQ) 11.74 (-1.0)|FRHE  AA(D) 11.80 (-1.0)|/\k  AlsE(1) 11.82 (-1.0)|#4H  H&HD) 11.88 (-1.0)
ElLas A= ZlLdtEE EasLS ElLas ELdtES ElLAEs BES
7A178 2000m Bk BAR) 9:02.84[:28 #RE(1) 9:03.38|#EME *LA(1) 9:11.51RIE  E=H(1) 9:29.06|;HE &H() 9:33.22|&K  A#EH(1) 9:40.09| kK FIHN() 9:41.47|11E EIB() 9:42.32
ZihEs S =lhEs = EEES & E A ES EEEES & ES
TA1TH llomy |ETT &HEQ) 15.54 (+1.1)|k A1) 15.96 (+1.1)|Z#% B&=Q0) 16.16 (+1.D)|f19  A#() 16.31 (+1.1)|##  KEE(D) 17.43 (+1.1) =8 =) 17.95 (+1.D) [ S=A(1) 18.37 (+1.1)
99-Tem/9.14m |5 ] 2 ELES BEE BLES AR S BREE BES
SETITE E— EE == PN 6.44 (+1.3)[FcH #AQ) 6.09 (+0.1)[HJIl =AM (1) 6.05 (0.0)|%8O 1BF(1) 5.99 (+0.2)[ma  AE() 5.94 (+0.5)[HH  wB(1) 5.89 (+0.6)[1T#  KA(1) 5.82 (+0.7) 5L EO(1) 5.64 (+0.8)
= LS EARL EAELS EltES EBLWTHE TIE =i WHE ElLEs wNE
7R16 Mg |RE ELQ) 33.92|# K1) 29.86|aE K1) 2591 3RA =A() 22.67|#E EMN) 22.09[:FF# {EKEB(L) 21.35|#E BIABR(1) 20.08|THE REEAk(1) 10.56
(15ke)  |ZmIES EaslE gD I AP sEE AES NES
. iR EAG) 1:56.60[J118 #£(2) 1:57.66| &M #$Z(2) 1:58.12k 1L EA(3) 2:01.58|f5k fKXEB(2) 2:02.37|B8%F #h(1) 2:05.05|1BF E5#H(2) 2:07.38|=x #HAQ) 2:14.49
ESERF | THITH 800m |__ i o T o o o o o
SlERES) L= SRS ZlEm ZildtEle TZHIS R = &=
21178 | s000mw AN IEE(3) 23:22.43|HhE S=AX(3) 23:26.28|557k  #HEA(3) 23:33.16|FHE #E}(2) 23:53.68|ATM £3k(2) 26:43.51| KK 4 (2) 28:14.18|1&1 BR(2) 29:21.42|1%  —i(1) 29:24.09
E LS EAR BEE = LS EAR ELFES BREES Sl WikE BREES
. . 1@53:%@(3) 1.95 TT+%WZ) 1.75 %ﬁ %jfEK(S) 1.70
AES = SEIES
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PINTIN st =0 A 2= A o 3 e AN QY TN S
R =gl FT5EE LR RIKE RSk L EREFRSFEIR TR Y R o B A TE L FHE T f T B B
F R4 (—) & 1Lk it Rz b 44 (—) & ke Bt FLER AT A ZEA
w (wind assist) : JBJASE TRIRH ek, TKRIBEKE06k, =TKR: R @ X Aisk, GR: K&itdk, =GR:KE X Aioek
B £+ R 247 37 A7 YA DA hr
. T OREQ) 12.19 (+1.7)|F] HKR@3) 1227 (+1.7) |98 =& 12.38 (+1.7) |58 iR 12.86 (+1.7)|B8RE IR42(5) 13.02 (+1.7)|FH Ef2(4) 13.13 (+1.7)
PR TH1TH 100m . . . . -
=P =P 4 A7 Ik 4 AY7 Ik BLEE =A1IpN
- 300m FIER FKREG) 39.78|BAR ®BHE4) 40.96|H #EEQ3) 4224 FH EfS4) 43.66(58  F1E(4) 43.96
Zihk TR-GR[FTBEREKX Zihk Zihk Zihk
EH Hit(3) 2:15.14|5F  EH#(4) 2:25.20|tk  FiE 2:33.02)F  &FQ) 2:42.41
7TH16H 800m
Z K =A1IPN NowStyle Z K
TA17H £000m =% [ 20:49.59
NowStyle
7H16H | 5000mW M%j_a'%(z) 28:02.21
ZilfEE
o HH F 1.65(1LE HBETFQ) 1.60
AT B BERTITTAY-Y EILEEX
o K22 #Q) 3.41|£8 ETF(Q) 3.00(#EHE  HEQ) 2.80|#1L  EI&TF(2) 250|018 BH@Q) 2.40
TH16H Hemigk | I e N
= [ = GR| &= A=) = KBRA
TA16 8 - %E% lel wbh.56 (+3.3)[;ttlH =& 4.42 (+1.2)
A7 57h A.C.TOYAMA
. |rE BEQ2) 12.15
TH17TH Rt B
=& hY-f 40.00|18H  #(@4) 35.12|P94 7E 32.08
TH16H N/ -
Y K K BlLEE = 1lLkER
WHE $E570) 28.36
THI1TH SUk'S & L E A
Akt | 1a178 L00m ®A EHE0) 12.24 (+0.9)|+# HAZ@Q) 12.34 (+0.9)|&HE £H(2) 12.55 (+0.9)| &k #MN(©2) 12.85 (+0.9)|B®E T2=(2) 12.86 (+0.9)|mEE & (2) 12.92 (+0.9) |58 EE(2) 13.04 (+0.9) |8 HIH() 13.10 (+0.9)
EEEE ZihitEE =hES = ams ERELS IB it Zhfs
JA16H 200m AR BINE) 41.09|FE  Zr(2) 41414 F1EQ) 4237|IKE ®E3%(3) 4260|118 FIW(3) 4452 FEQ) 4475\ %J(2) 46.04
ELES ELES =ZihitEpE BRES ELES ELES ElEs
7A16H 200m Bl #1m2) 2:2224|E.E  EHP(2) 2:26.35|Fith BRA&(3) 2:30.64|58 EfHQ) 2:34.30|Aik  EERFI(2) 2:40.35(1LH F2(2) 2:41.55|F @ 0U#(2) 2:45.44
ELFES EEEE BEES a5 EEEE ElLES WS
TH1TH 2000m AIE ##@3) 9:54.09|EE  E#HP(2) 10:12.72|8AK BEE(2) 10:18.40(& #1E(3) 10:26.45|tkfA  #IFE(2) 10:35.01[E% #i%(2) 10:44.32| 58 EFIEQR) 10:49.83|fE0  #AZ(3) 10:57.63
BELES EEES ELES BLES ELPES =lLfEs ElLES ElLES
TH 16 L00m it HEQ) 14.01 (+1.2)|F# ®WQ3) 1474 (+1.2)|F8 TrB(©2) 14.95 (+1.2)| & BIRTF(2) 15.19 (+1.2)|#  #(2) 16.21 (+1.2)|327E  mEwR.(2) 16.39 (+1.2)[\u T #X@0) 16.92 (+1.2)|iE7K  E#(2) 17.82 (+1.2)
NTIB == IB =it NTIB == ERES ZhhEE Zhis Zhfs ZiLhEE
TA17H 300mi1 WE EFE(2) 44984 F1E(3) 45.06| L@ F£E@Q) 48.33|81L  BIRF(2) 48.36|#  #(2) 50.27|MA  E(2) 54.28|=M %7%(2) 56.02
ELibEpE ZihibEE =ihEs BEEE ELFES AES BRI
e | ms =M HER) 10.99|m&  KFRIN(2) 9.48(%#e  EH(2) 9.31|HE EEQ) 930 HH(?2) 8.34|HlE ETF(2) 8.29|1EA 1RZ(2) 8.06| Ll Fi#(2) 8.04
BRES RIS BELES ERIES BLWTFiaS =R el BREE
TH17H P BEZ ZERE(3) 38.14|ME LEQ2) 33.86|3E0  #khN(2) 33.38|FAR =Z(2) 30.38| iy EZ(2) 30.31|LA #17R(3) 30.01) A 1zmx(2) 29.52|iFKk  Eiz(2) 25.18
BELES GR[EEABLS NI AES aN ElLEs A RE = ElLPES
PR . Loom v WEQ1) 12.62 (+0.2)|)1ls  #eEBR()  12.81 (+0.2)[hH EBE(D) 12.95 (+0.2)|3&@7T  medn(1) 13.04 (+0.2)|BH  &#HE() 13.11 (0.2l =B=Q) 13.32 (+0.2)[;@A #HR@Q) 13.33 (+0.2) [tk #EHB(1) 13.39 (+0.2)
ERELS WHE NTIB =i ELdtE s ERES ElLPES ElPHS EAELS
1A 16H loomH &R Q) 13.91 (+0.8)|&®)Il BEE() 15.26 (+0.8)|i&%% m&E((D) 16.33 (+0.8)|&18 #ZEQ) 17.43 (+0.8)|:8H# EZF (1) 17.81 (+0.8)|&H2 #£() 18.08 (+0.8)| &4 T (1) 18.33 (+0.8)
76.20m/8.50m | g5 A |5 TKR-GR|E Lt = EEEE KES A =hEs AES
A 16 o THE OKEQ) 26.88[F oH(1) 1775|846 R 17.08| A% & Rtx(1) 15.20[% EE#®(1) 1452|51 HuH() 14.29|@)1 &) 11.37
EREE EaELS anEE PNl hRES el 585
. e | T BRE) 1.55[811 B&EQ) 1.50[2A  ZEm(2) 1.50|ARR #&H(1) 14518  2F(1) 1AO|HH RE(2) 1.35
PISERICE | TAIGR | EREE | SIS EEES T EEE B
TH16H . & AME) 5.49 (+0.7)| L8 Z#(2) 5.15 (+1.0)|327E  BEIA(2) 5.11 (+1.4)|BH  BHQ3) 5.10 (+1.4)|xF =E() w5.02 (+2.3)AE  EHZX(1) 5.00 (+1.0)[fa& (1) 4.78 (+0.3)[EE =£(2) 4.61 (+0.2)
NTIE =i EEES BELES BELES ElLES BEEE BREES SPE
- o~ #F HBME) 11.25 (-0.D) A& &HXE(Q) 10.78 (+0.3)| BB T2=(2) 10.73 (+0.2) | BHQ3) 10.60 (-0.D)|[/hR VA TH(2) 10.40 (0.0)|X% #EF®) 10.38 (+0.8)| Al Ao n(1) 10.12 (+0.D)|FEE (1) 10.11 (+0.5)
ATIp == EEEE aPs ZihEs BELWTAS Bl BLVWTAS EEES




